TGLOBAL

globalindustrial.com

Laptop and Tablet Charging Cabinets

Please read entire manual carefully prior to assembly and use.

If there are any additional questions, contact Global Industrial Customer Service at 1-800-645-2986 or
visit www.globalindustrial.com.

NN
B N72N/7N7NTIN7NN

~
‘
.
‘
“
¢
\
’
iy
’
A
’

NZNZNINZN NN
L I EEATYATA XA T KA
2.0:050 e e S i
LN
2o |
NANS
PR
NN
2.0 0
YNININ
2227
NANNS
2227

NINININININ

Model# 670051 Model# 670052
16-Device Charging Cabinet 32-Device Charging Cart

WARN I NG - For commercial use only. Read all instructions before assembly and use. Save

these instructions for future reference.

DANG E R - RISK OF ELECTRIC SHOCK

e Always unplug unit before cleaning.
e Connect this cart to a properly grounded outlet only. See Grounding Instructions (pg. 2).

WARN I NG - To reduce the risk of burns, fire, electric shock, or injury

o Unplug from outlet before putting on or taking off parts.

o Close supervision is necessary when being use by, or near children, invalids, or disabled persons.

e Use this charging cart only for its intended use as described in these instructions. Do not use
attachments not recommended by Global Industrial.

o Never operate if there is a damaged cord or plug. Do not operate if the unit is not working
properly, has been dropped or damaged, or has been dropped in water. Bring the charging cart
to an authorized service center for examination and repair.


http://www.globalindustrial.com/

o Keep the cord away from heated surfaces.

e Do not operate if the air openings are blocked. Keep the air openings free of lint, hair, etc.

e Never drop or insert any object into any of the openings.

e Do not use outdoors.

e Do not operate where aerosol (spray) products are being used or where oxygen is being
administered.

e To disconnect, turn all controls to the off position, then remove plug from outlet.

e To prevent the possibility of tipping, always put heavier items at the bottom of the cart and not
near the top.

e If the unit has more than one power supply, ensure all power cords are unplugged before
transporting, testing, or repairing.

WARN I NG - RISK OF INJURY

e Do not place or use this charging cart to support video equipment such as televisions or
computer monitors on the surface of the unit.
e Do not allow anyone to sit, stand, or climb on the cart.

A|§ CAUTION - sHock HAzARD

Disconnect all Power Sources

GROUNDING INSTRUCTIONS

This product is for use on a nominal 120-volt circuit and has a grounding plug that looks like the plug
illustrated in the below sketch. Make sure that the product is connected to an outlet having the same
configuration as the plug. No adapter should be used with this product.

4
[f GROUNDED |-u! I
OUTLET

& |ED)

]
GROUNDING |
PIN —

TECHNICAL INFORMATION

Model 670051 Model 670052

Product Dimensions 30"W x 18"D x 20"H Product Dimensions 34"W x 18"D x 45"H
Product Weight 40 lbs. Product Weight 90 Ibs.

Slot Quantity 16 Slot Quantity 32

Slot Dimensions 1-5/8"W x 16-5/16"D x 12"H Slot Dimensions 1-5/8"W x 16-5/16"D x 12"H
Outlet Type AC Outlet Type AC

Number Of Outlets 16 Number Of Outlets 32

Power (1) 16-Outlet Power Strip Power (2) 16-Outlet Power Strip
Voltage 120V, 12A Voltage 120V, 12A

Cord Length

6 ft.

Cord Length

6 ft.




ASSEMBLY INSTRUCTIONS

Note: The socket outlet to which a power cord is plugged must be easily accessible after the product is
installed in place.

REF.| QTY, DESCRIPTION REF, QTY, DESCRIPTION
T

1 1 RIGHT SIDE PANEL Wi 14 | #5x12mmLg Philips Pan Head Screw — — — — — Q

_ =
2 1 BACK PANEL H2 2 | SocketSupport— — — — — - D ?

.7
3 1 LEFT SIDE PANEL H3 4 M4 x 10mm Lg. Phillips Countersink Screw — — =
4 1
TOP PANEL H4 4 M8 x 1.25 x 20mm Lg, Phillips Pan Head Screw — — —
5 1 16 OUTLET POWER STRIP -
H5 4 Lock Washer

6 1 BOTTOM PANEL = /EB
7 17 DIVIDER HB 4 Plain Washer — — - — - —— - — — — — — x‘:)
8 g9 TRAY DVIDER H7 4 M8 x 1,25 x 20mm Lg, Thumb Screw — — 7@
9 L TRAY He 4 | TraySupportBracket — — — — — — — — — — — —

-
10 1 RIGHT DOOR PANEL H9 10 | #4x10mm Lg. Phillips Pan Head Screw - — —C%)
11 1 LEFT DOOR PANEL H10 1 Set Key - — — — — — — —

(15et)| Key AR
Note:

Step 1 through 7 unit assembles
in the upside down position.




oo

goo0pDooOooo

E 0 O0O0OOTGDQZD

0 0000000 o00oaoao

L 000

Detail B

Align bottom panel
onto tabs as shown




Cabinet now facing right side up

Insert shelf brackets —
at desired height / ‘l

/o




Attach door panels to cabinet

LT Y

O™ e O O oy m N

E™M O™ O™ I ™I ™E ™
L A Y
LR A N AT AT AT
RN RN R AN ES

e N e N
R AN AT AN AT
Tl MmO MO ™™
MO MW I WO ™I ™

MO MO ™I ™MD WO ™
WA WO NO ™I ™G
OO ™I ™I ™D
N R N A N L)




Optional Handle and caster ki

Model 670049

CONTENTS

=

€ e
= | |
| | |
! E W B
B @
| @ o]
S ,
| | s 8
T £ | £
= | ! ! w,gm,m
a = 7]
21! ! s B 3
= | = % g |
Q| | £ -
o .| . &
= -] @ | o
[SH .- [ 2, 02 g
212 . Es ozl 2,
ol g2 & 4 & & g T F o= &
g = 2 = = X % £ &
s & = & X = & 3 E a
T B 5 = . 8 8 . I & 5
2 7 B &8 X 2 L X E x £
g & ¥ £ 2 28 8 8 § 2 3
> ©
m o o~ o~ - = = - =+ - o -+
Ty -
- ~n @ o
% - N e = F F 2 I £ 2 5

o\a\a\uA

(2) cabinets

ing

stacki

EF

AT AT AT AT AT S Y AT AT AT AT AT
BFVF UL T D D Y Y Y Y AT AT
LAV SRI T I TS O DR G DD
VL VI VLU TS L T v
RS RSL L ST P
BT LTS DY Y v
Yy LY TSNS ST S SDS
(L L v P L v




OPERATING

This charging cart stores, secures, charges and transports (for model 670052) laptop or Chromebook™
computers as well as E-readers, Android tablets, iPads® and more.

Open front doors and locate the power strip on the top of the rear inside panel.
Plug the device’s adapter into the power strip.

Route each adapter cord through the top shelf grove and plug into device below.
Place and charge up to 16 devices to the cart at a time (32 for model 670052).

el A

e Note: Allow additional space required for the power adapters, power cords and protruding power
plugs from the devices.
e Note: If the circuit breaker trips; press the reset button on the power strip.

MAINTENANCE

All power cords must be unplugged before cleaning. Inspect for damage, dirt and debris on a regular
basis. It is recommended that any cleaning solution be tested on a small, inconspicuous area of the cart,
to ensure it does not harm the surface. Do not use steel wool, scouring pads or other abrasive materials
that may damage the surface finish.

WARN I NG - To avoid risk of electric shock, do not expose electrical components to water,

cleaning solutions or other potentially corrosive liquids or substances. Do not immerse in liquid or allow
liquids to flow into the cart or its components. Wipe all cleaners from the carts surface using a damp
cloth. Dry the surface thoroughly after cleaning. Do not use flammable cleaners.

CAUTION - DO NOT attempt to modify, service, or replace any part of this charging cart. Call 1-

800-645-2986 or visit www.globalindustrial.com for customer service assistance, or bring to an
authorized service center for examination and repair.

TRANSPORTING AND STORING
Note: Transporting refers to model 670052 with casters.

Before moving, unplug and secure all power cords, close and lock doors, remove any items from the top
of the surface, unlock the casters and push slowly and carefully.

WARN I NG - RISK OF INJURY

e Do not move over uneven or irregular surfaces.
e Do not allow children to move.
e Lock the casters after moving.



Do not park unit in areas of heavy traffic.

Do not run power cords across hallways, classrooms, or other areas where they will be walked on.
Do not leave unit unattended in areas where children have access.

Keep doors closed and locked whenever unit is unattended or parked.

Keep casters locked whenever the unit is unattended.



